Staff Selection Commision

1 of 63

Click to Print  logout

REGISTRATION NUMBER :
EXAM DATE : 3-July-2017
EXAM NAME : SSC Examination
TOTAL MARKS : 200

Staff Selection Commission
(Government Of India)

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=M...

Challenges

CANDIDATE NAME :
EXAM START TIME : 14:45:00
EXAM DURATION : 02:00 Hrs TOTAL NO
OF QUESTIONS : 200

QID : 201 - In the following question, select the related word from the given alternatives.
Car: Road:: Rail : ?
fafaRad oy & fou T fawed § ¥ WEfid 21sg &1 U

PR: TSP : 13 : ?
Options:

1) Water

SN

2) Air

3) Road
BEEY
4) Track

g

Correct Answer: Track

3

Candidate Answer: Track

QID : 202 - In the following question, select the related word from the given alternatives.
Light: Lumen::?:?

fafared y 7 fiw ¢ fawed! A 4 W6 wss 1 gRu

Options:

1) Temperature : Candela

AqHH @ Heal

2) Density : Kilogram

YUdd :

3) Pressure : Pascal

Q9 : URB

4) Force : Meter

q : Hiex

Correct Answer: Pressure : Pascal
Q9 : URDd

Candidate Answer: Pressure : Pascal
Q9 : URDd

QID : 203 - In the following question, select the related letters from the given alternatives.
BGMR : DIOT : : SNOV : ?

Fafoea uy # fou U et # 9 9efia siert &1 ghul

BGMR : DIOT : : SNOV : ?

Options:

1) UPXQ

2) QPUX

3) UMPW

4) UPQX
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Correct Answer: UPQX
Candidate Answer: UPQX

QID : 204 - In the following question, select the related letters from the given alternatives.
UVWX : YYYY:: ABCD:?

fofafea gy & fou v fawed & § Taifia siert & gful

UVWX : YYYY:: ABCD:?

Options:

1) YYYY

2) EEEE

3) DDDD

4) FFFF
Correct Answer: EEEE
Candidate Answer: EEEE

QID : 205 - In the following question, select the related number from the given alternatives.

12:156::14:?

Frafoea vy # fau T et # @ Yefta e o1 gl
12:156::14:7?

Options:

1) 195

2) 205

3) 208

4) 210
Correct Answer: 210
Candidate Answer: 210

QID : 206 - In the following question, select the related number from the given alternatives.

102:10404::104:?
Frafoed vy # fiw T et # @ Yefta e o1 gl

102:10404::104:?

Options:
1) 10202

2) 10404
3) 10804

4) 10816
Correct Answer: 10816
Candidate Answer: 10816

QID : 207 - In the following question, select the odd word from the given alternatives.

Frafoed vy # faw T et o @ faww wse 31 giul
Options:

1) Lemon

g

2) Carrot

3) Beetroot

4) Turnip

R[eSH

Correct Answer: Lemon

A
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Candidate Answer: [ NOT ANSWERED ]

QID : 208 - In the following question, select the odd word from the given alternatives.

fufataa gy & fow v fawed & § faww wse &) gful
Options:

1) Sentence

i

2) Letter

SIER

3) Word

R

4) Paragraph

EIERECLSS

Correct Answer: Letter
S{&R
Candidate Answer: [ NOT ANSWERED ]

QID : 209 - In the following question, select the odd letters from the given alternatives.

frofafa oy o fou T fawmet o F faww srert @ g
Options:

1) ADG

2) CFI

3) IMQ

4) SVY
Correct Answer: JMQ
Candidate Answer: JMQ

QID : 210 - In the following question, select the odd letters from the given alternatives.

Frofafea uy o fou T fawmet o F faww srert @ g
Options:

1) DWEV

2) HSIR

3) KPLO

4) PKQI
Correct Answer: PKQI
Candidate Answer: PKQI

QID : 211 - In the following question, select the odd number pair from the given alternatives.

fafared oy & fow v fawedt & § fowm dem gm &1 9wy
Options:
1)17-12
2)29- 14
3)21-16

4)31-26
Correct Answer: 29 — 14
Candidate Answer: 29 — 14

QID : 212 - In the following question, select the odd number pair from the given alternatives.

fafared oy & fow v fawedt & § fowm dem g &1 9wy
Options:
1)3-27
2)7-49
3)5-125

4)6-216
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Correct Answer: 7 — 49
Candidate Answer: 7 — 49

QID : 213 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Mobile
2. Manage
3. Merger
4. Merged
5. Mango

AT <Tsal BT Weqd I | 3 aTd HH & SIUR ford |

1. Mobile
2. Manage
3. Merger
4. Merged
5. Mango

Options:
1) 25341
2) 25431
3) 24351

4) 54132
Correct Answer: 25431
Candidate Answer: 25431

QID : 214 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Strain
2. Strom
3. Stark

4, Stored
5. Stamp

fafafed wea! $ WegdH I | 3 aTd HH & SIER ford |
1. Strain
2. Strom
3. Stark

4, Stored
5. Stamp

Options:
1) 54312
2) 53421
3) 53412

4) 54321

Correct Answer: 53412

Candidate Answer: 53412

QID : 215 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
AD, CE, EF, GG, ?

T A far Mo B, R § T U g 81 o T fywent # & 98 9t fiwew gy, S s Y

AD, CE, EF, GG, ?
Options:

1)1I

2)IH

3)HI

41
Correct Answer: IH
Candidate Answer: IH
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QID : 216 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

AZ, DY, IX, PW, ?

T A o Mo B, R § T U g 81 o T fywent & 98 9t fiwew g, S S B g

AZ, DY, IX, PW, ?
Options:

1) YY
2) YV
3) WV

4) W
Correct Answer: YV
Candidate Answer: YV

QID : 217 - In the following question, select the missing number from the given series.

7,10, 14,19, 25, ?

fafafad oy & ou T fawedl § 9 g i I1d S|
7,10, 14,19, 25, ?

Options:

1) 32

2) 36

3)38

4) 40
Correct Answer: 32
Candidate Answer: 32

QID : 218 - In the following question, select the missing number from the given series.

1,7,3,9,6,12, 10, 16, 15, ?

fafafad oy & ou T fawedl § 9 g i I1d S|
1,7,3,9,6,12, 10, 16, 15, ?

Options:

1) 18

2) 15

3)20

4) 21
Correct Answer: 21
Candidate Answer: 21

QID : 219 - Mohini is taller than Nita but not shorter than Sarita. Sarita and Malini are of same height. Mohini is shorter than Hema. Among them, who is the second

tallest?

TR, Far | Tt & g i & S T &1 IRkar qut Al T e s o) €1 AR, 3w @ 91 71 3 @ gud) Il el H 2

Options:
1) Mohini
gt
2) Nita
e

3) Hema

4) Cannot be determined
1 g1 faam o Febar

Correct Answer: Cannot be determined
1 78T o o waman

Candidate Answer: Mohini
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QID : 220 - Present age of Saksham is one third of his father's present age. 5 years ago Saksham's father's age was half the age of Saksham's grandfather. If
Saksham's grandfather will celebrate his 88t birthday after 3 years, then what is the present age (in years) of Saksham?

T B I 3G S faT I ada g B v fagrs ¥1 5 af g werm & far 35t oirg wem & argrel Bt omg 31 omeht o1 Al Wer & ararSht 37U 88 of S 3
Y qTg TR, O Germ B adu g (@t o) e 82

Options:
1) 18

2) 15
3) 16

4) 20
Correct Answer: 15
Candidate Answer: [ NOT ANSWERED ]

QID: 221 - If 'P 3 Q' means 'P is daughter of Q', 'P 5 Q' means 'P is father of Q', 'P 7 Q' means 'P is mother of Q' and 'P 9 Q' means 'P is sister of Q', then how is J
relatedtoKinJ3L9N30O5K?

I P3QHIIP, QBT T, P5Q ISP, QHI AR, P7QHTHI P, QB AT TUPIQ HT 3P, QB TR S, MIZLIN3OSKHI, K
g voR Teifta 32

Options:

1) Mother

A

2) Wife

Telt

3) Niece

4) Daughter

Correct Answer: Niece

i)
Candidate Answer: [ NOT ANSWERED ]

QID : 222 - In the following question, select the word which cannot be formed using the letters of the given word.
RIVALRIES

Fafafed fiwedl # ¥ 95 Yeg gHT Sl QT 7T U8 & 31&RT T TANT HRob To! ST off Fhal|

RIVALRIES

Options:

1) RIVAL

2) RICE

3) SEAL

4) RISE
Correct Answer: RICE
Candidate Answer: RICE

QID : 223 - In the following question, select the word which cannot be formed using the letters of the given word.
DICTIONARIES

Fafafed fiwedl § ¥ 95 Yeg gHT Sl QT 7T g & 31&RT BT TANT HRb To! ST off Fha|

DICTIONARIES

Options:

1) CATION

2) SITE

3) DICTATE

4) TIRED
Correct Answer: DICTATE
Candidate Answer: DICTATE
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QID : 224 - In a certain code language, "he is game" is written as "@#*", "good game play" is written as "$*&" and "play that hard" is written as "1$%".
How is "good" written in that code language?

& AR FIe W H, "he is game" P "@#*" forar ST %, "good game play" P "$*&" forar orar gaur "play that hard" B "1$%" forar e HESKDS
UTYT # "good" ! Y UHR forar smerm?

Options:

1) &

2) *

3)$

4@
Correct Answer: &
Candidate Answer: &

QID : 225 - In a certain code language, "CAB" is written as "6" and "LEG" is written as "6". How is "MAP" written in that code language?

T fafiy FIs U &, "CAB" P! "6" foraT WITdl § TUT "LEG" ! "6" foraT ST 81 39 His YIS H "MAP" & g TR forar samm?
Options:
1)6

2) 4
3)3

4)8
Correct Answer: 3
Candidate Answer: [ NOT ANSWERED ]

QID : 226 - If "+" denotes "subtracted from", "+" denotes "multiplied by", "-" denotes "added to" and "x" denotes "divided by", then
19+2+2+2-14=7?
Tfg " 7 anef e B, 4 T ok o 2 v 7 orf "ol T " T anef T R,

19+2+2+2-14=7

Options:

1) 52

2) 46

3) 48

4) 88

Correct Answer: 48

Candidate Answer: [ NOT ANSWERED ]

QID : 227 - If "#" denotes "multiplied by", "@" denotes "subtracted from", "*" denotes "added to" and "%" denotes "divided by", then which of the following
equation must be true?

afe; "4 1 oref T B, "@" 1 9ref rgera B, v T ordf rSiis” & qut "% &1 oref mumT B, o Fufafed 7 & B ar wHie]or we 82
Options:
1)4%2#6%7=18

2)3#9@4#6=4
3)5#6%3@4=8

4)14%2*3#8=31
Correct Answer: 14 % 2 *3 # 8 = 31
Candidate Answer: 14 % 2 *3 # 8 = 31

QID:228-If11#2@6=78and15#4@8 =152, then1l7#6@7 =7

Hﬁll#2@6=78?‘|’?ﬂ15#4@8=1523},?‘1}[17#6@7=?
Options:

1) 161

2) 143

3) 221

4) 157

Correct Answer: 161

Candidate Answer: [ NOT ANSWERED ]
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QID:229-1f2=0,5=1and8=4,then11=7?

qE2=0,5=1TM8 =47, W11 =2
Options:

1)8

2)9

3) 10

4)6

Correct Answer: 9

Candidate Answer: [ NOT ANSWERED ]

QID: 230 -

In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

Fafeed vy # for ow oeedt # ¥ uy G
(?) & TUF G HS arell FE4T H gam|

3 6 5 10 7 14

72 | 18 120 | 30 ? 42

Options:
1) 84

2) 136
3) 144

4) 168
Correct Answer: 168
Candidate Answer: 168

QID: 231 -
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

TR ua # Br o feeut # @ uy =
(?) & FUH W A arelr qEAT B gl

5 11 13 4 8 7
2 6 6 1 5 ?
Options:
1)3
2)4
3)6
4)7

Correct Answer: 4
Candidate Answer: [ NOT ANSWERED ]

QID:232-
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Options:
1) 18

2) 20
3) 24

4) 28
Correct Answer: 24
Candidate Answer: 28

QID : 233 -
How many triangles are there in the given figure?

& w8 s ¥ feet fager ¥

X

/!

/ ‘.\\ 7 Pk

Options:
1) 12

2) 14
3) 16

4) 20
Correct Answer: 14
Candidate Answer: 14

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=M...

QID : 234 - In each of the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they
seem to be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:

I. Some pens are pencils.
II. All pencils are erasers.
III. Some erasers are cups.

Conclusions:

I. Some pens are cups.

II. Some pencils are cups.
III. Some cups are pencils.
IV. Some erasers are pens.

I T T TS Uy H $© FUF SR I a1a I FYAI R SMIRG T P T MU F, greifes I G 91 92 & R g gadt 31 9 frey ug o R

fuffea % & fow T o § frsey, i 70 ot & onyR W gfeea 7

DY:

1. $% O IR €
11 Tt 3R TR
IIL. $ IR HU § |

[Ei=at

L 33 M BUE

II. 8 R %Y g
IIL. 3o $Y IR ¢
IV. $3 IR U
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Options:

1) Only conclusion (II) follows

Fad sy (I1) 9E1 8

2) Only conclusion (1V) follows

FHad ey (1v) T '

3) Only conclusion (I) follows

Faa sy (1) & 8

4) No conclusion follows

Fis W Frepy 51 76§

Correct Answer: Only conclusion (IV) follows

FHad ey (1v) T '

Candidate Answer: Only conclusion (IV) follows

Fad ey (v) T8 &

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=M...

QID : 235 - In each of the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they
seem to be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
1. Some pens are cups.
II. No cups are plates.

Conclusions:

I. Some pens are not plates.
II. All pens are plates.

III. Some plates are not pens.

I T T UAS Uy H $B FUA SR ISP a1a I FYAI R MR T P T MU F, greifes I G 91d 92 & R g gadt 31 w9 fred ug o R

fuffta & & T Tu o @ ey, T U 3 & R W gfead g

DY:
L. $% 04 &Y g
IL B $Y WS T B

forspd:

L 38 U W T &

IL T 07 @ €

I $8 e 07 gl

Options:

1) Only conclusion (I) and (II) follow

Fad ey (1) qur ey (11) I8t §

2) Only conclusion (I) follows

Faa fFred (1) Wt ®

3) Only conclusion (II) and (III) follow
Pad ey (11) aut ey (111) I8t &

4) No conclusion follows

Fis W Fpy 951 TET §

Correct Answer: Only conclusion (I) follows
Faq FHy (1) 98 7

Candidate Answer: No conclusion follows

13 i e w81 781 ©
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QID : 236 -

From the given options, which answer figure can be
formed by folding the figure given in the guestion?

FreafafaT e # o HiF o 397 3l ox

# & 92 HMPTa F AlmhT 9GS ST Hahdl 87
R
G B
(@] Y
W
Options:
1)
G
g ¥
2)
~ B
w R
3)
~ R
c (B
4)

Correct Answer:
~ R

B

v

G

Candidate Answer: [ NOT ANSWERED ]
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QID: 237 -
From the given options, which answer figure can be
formed by folding the figure given in the question?

TRm e Ao s Myl oy 3 &
e A B Az @S S T B2

A
B
D E
F
C
Options:
1)
C
A F
2)
aill s
B D
3)
4)
Correct Answer:
C
% F

Candidate Answer: [ NOT ANSWERED ]

12 of 63
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QID : 238 -

In the given figure, which number represents houses
which are red and tall?

& el A, FiF T e W WS o
oIFe &, ol E2AET £7

House/®T

AT o 3 LTS

Red/ [ |2[4) 5 ; 6 11
\ .

TS \1&_; / 5 i

Options:
1)7

2) 4
3)8

4) 11
Correct Answer: 4
Candidate Answer: 4

QID: 239 -

?

Tall/eTFar

-
V' White/
-«

In the given figure, how many males shoes are not

of clothes?

& or$ T, gt 5 P oY FuE & A ¥
Cloth/&ust —?/\ /'ft‘m_Sﬁ“

Males/

18/ 23 (32\

j Shoesf

g%y

16 \4?&,

Options:
1) 71

2) 39
3)79

4) 23
Correct Answer: 39
Candidate Answer: 39

QID : 240 -

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=M
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Options:
1)2

2)3
3)6

4)4
Correct Answer: 6
Candidate Answer: 6

QID: 241 -

Which answer figure will complete the pattern in the
guestion figure?

FiT O 3 NPla U HFid & Ulasy & g
FLEN?

*~J

Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:

14 of 63 7/31/17, 8:29 PM



Staff Selection Commision http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=M...

QID: 242 -
Which answer figure will complete the pattern in the
question figure?

BT W1 3T APpa U Hpid & ulasT & qu
HLI?

Options:
1)

| |

2)

L]

3)

4)

Correct Answer:

|

Candidate Answer:

| ]
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QID : 243 -

From the given answer figures, select the one in
which the guestion figure is hidden/embedded.

& % 3 Hgad # ¥ 39 3R e @ AT
o & uy wpla BfeT &

Options:

1)

G

2)

A4

JaN

Correct Answer:

Candidate Answer:

QID: 244 -

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=M...
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N
A
S

2)

3)

4)

Correct Answer:

Candidate Answer:

QID: 245 -
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Options:
1)

2)

3)

4)

1

Correct Answer:

1

Candidate Answer:

_—

QID : 246 -
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Options:
1)

N
-

()
=

2

iR e 74N %

Correct Answer:

¥,

Candidate Answer:

¥

QID: 247 -
If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afE me 90T F AB TaT U @I AT, ar & TS
IO AGEar #§ @ &g o et Uy Efa &
TEr ufafesa g2efr?

I.Q

ARk B
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Options:
1)

2}-

Correct Answer:

{%

Candidate Answer:

QID: 248 -
If @ mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afg uer giur A AB I W @1 &, ar & TS
X aEfadt F @ FiF @ sy vy el &
T ufafes gehe?

=
nw_Az
m

A<k B
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Options:

1)
N

wp e
S

2)

=
=EA ©
m

3)
w
zZ A »
=
4)
=
w—y z
m

Correct Answer:
e

M <I E
n

Candidate Answer:

M

= A ®
m

QID : 249 -

Options:
1) 40, 13, 56, 57

2) 14, 32, 68, 76
3) 21, 01, 86, 69

4) 02, 20, 97, 88
Correct Answer: 21, 01, 86, 69
Candidate Answer: 21, 01, 86, 69
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QID : 250 -
A word is represented by only one set of numbers as given in any one of
the altematives. The sets of numbers given in the altematves are
represented by two dasses of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘E’ can
be represented by 12, 24 etc , and ‘D’ can be represented by 65, 77, efc.
Similarly, you have to identify the set for the word “IDLE”.

T e had T WEA-HHAT G A TR ¥, Ster B faweat & &
el T & T o ¥ Beedt F Ry av dEm-udy awt & o2 gut
grr gufw aw ¥, Sher fR fow o oY amegE # ¥ awnegp 5 wew AR
aftp T AT 0 & 4 § 3R wegEll F1 5 F 91 57 WGy F UF HaW
uea swh ufts 3R a F FEe wEar GRY i S WA ¥ SEeor
& fow B 9712, 24, g gRT Ul ST @haT ® I D & 65, 77,
e GRT guifar =it Gaar &1 50 a<s F IuS uy & e veg “IDLE”
& fow FHE P T E

Matrix-I Matrix-Il

e I
01112 3]4 5l6|7|8B|9
O|E|I |AJU]O 5/ B|F|L|D|H
TIU|O[E]T A 6 DIH|B|F]L
21 11A|UJO|E FlF|ILID|H|B
3|0JE[I1[A]U S|H|[B|F[L|D
4 AJU[C|E] g|L(D[H|B[F

Options:
1) 20, 65, 95, 43

2) 32,77, 56, 00
3) 44, 88, 68, 31

4) 01, 96, 75, 43
Correct Answer: 20, 65, 95, 43
Candidate Answer: 20, 65, 95, 43

QID : 251 - Real estate comes under which sector?

e Tuf g &5 % ofcia e 82
Options:

1) Primary

Iy

2) Tertiary

SR

3) Secondary

4) Both Secondary and Tertiary
fadita aur gt Gt
Correct Answer: Tertiary

it

Candidate Answer: [ NOT ANSWERED ]

QID : 252 - What is the full form of PMGSY?

o, T, of. T9. 91, &1 SrEfég w U w82
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Options:

1) Pradhan Mantri Greh Sadak Yojana

YYTEET T8 e TIerT

2) Pradhan Mantri Gaon Sadak Yojana

YT TTa TS TerT

3) Pradhan Mantri Guarantee Sadak Yojana

T TRE TS& o1

4) Pradhan Mantri Gram Sadak Yojana

YU U TS Ao

Correct Answer: Pradhan Mantri Gram Sadak Yojana
YU U TS Ao

Candidate Answer: Pradhan Mantri Gram Sadak Yojana
YA I G arer

QID : 253 -
Maich the following.

IGEGIGICREC IR CIG eS|

Organisation / Group Head Quarter
| WHE &
1. IMF a. Geneva
2. WTO b. Washington D.C.
Teoy, & A gifdieres &1 ot
3. ADB c. Kathmandu
o & FISHATE
4. SAARC d. Philippines
T Rreidi=g

Options:
1) 1-b, 2-a, 3-c, 4d

2) 1, 2-3, 3-d, 4-b
3) 1-b, 2-¢, 3-d, 4-a

4) 1-b, 2-3, 3-d, 4-c
Correct Answer: 1-b, 2-3, 3-d, 4-c
Candidate Answer: 1-b, 2-c, 3-d, 4-a

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=M...

QID : 254 - Which Five Year Plan had a motive of 'Faster, More inclusive and Sustainable growth'?

5 daala a1 &1 35a W, siftre gaTaRht qut yRuita faemr ure
Options:

1) Tgnth

2) nglfth

3) Seyenth

Jrerat
4) Eleventh

Correct Answer: Twelfth

Candidate Answer: [ NOT ANSWERED ]

QID : 255 - How many Navratnas CPSEs (Central Public Sector Enterprises) are there in India?

URA H e .0 .wa.3. (=g I~ & W) Tavd Ul o2
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Options:
1) 16

2) 17
3) 18

4) 21
Correct Answer: 17
Candidate Answer: [ NOT ANSWERED ]

QID : 256 - In which country political theory of 'Fascism' started?

54 <=1 H "BRilaTE $1 IeHas Rigid o geim
Options:

1) Japan

EICIE]

2) Russia

>4

3) Italy

4) China
GG

Correct Answer: Italy

Candidate Answer: [ NOT ANSWERED ]

QID : 257 - Who among the following supports customary rights?

fafifad & ¥ $H TN S BT IH BT 82
Options:

1) Ritchie

=it

2) Locke

g

3) Plato

il

4) Heller

Correct Answer: Ritchie

Candidate Answer: [ NOT ANSWERED ]

QID : 258 - Which of the following statement(s) is/are CORRECT?

I. In federal government, power is distributed among the legislature, executive and judiciary.

I1. Due to political competition in a democracy, social divisions get reflected in politics.
III. Communal politics is based on the belief that one religion is superior to that of others.

ol & ¥ &1 978 $uF 98 3782

1. §Hg R ¥, 3R fFurrisd, drier! qut =amds § fakd g 8
II. ISP WYf S HRU Aidbaa H, TS U oM & wfafsfaa gar 3l
II1. IreTes IS, fht e o &1 3t @ S8R A TR 3emid g
Options:

1)Iand II

13U II

2) L, Il and III

I, I1 9T 111

3) Iand III

19T I

4) 11 and III

I1 9T 11

Correct Answer: I, IT and III

I, II 99T III

Candidate Answer: [ NOT ANSWERED ]

QID : 259 - Who among the following declares Financial Emergency in India?

Fafifed § ¥ oF YRd § i suraed 9iftd BT 32
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Options:
1) President

2) Prime minister

YA

3) Central Council of Ministers
P T uRwg

4) Supreme Court of India
YR T F=dH -
Correct Answer: President

vyt

Candidate Answer: [ NOT ANSWERED ]

QID : 260 - Which among the following is also known as chief law officer of Government of India?

faffd & @ fPd 4R TWHR &1 ToT B TaTedR i Hel ST 82
Options:

1) Chief Justice of India

YR & GO TR

2) Comptroller and Auditor General

URA F e Td meRramiae

3) Attorney General of India

YRA & HEAEard!

4) Judge of Supreme Court of India
Fateg e & =maneder

Correct Answer: Attorney General of India
HRA H

Candidate Answer: [ NOT ANSWERED ]

QID : 261 - What is the term of office of Chief Election Commissioner of India?

T TG SHRFT BT BB fae THT BT gl 82
Options:

1) Five years

PIEEIH

2) Six years

EIRIG]

3) Five years or 60 years of age

Ui T 91 60 WA Pt S

4) Six years or 65 years of age

T 9IS 7 65 AT I IY

Correct Answer: Six years or 65 years of age
B I AT 65 A BT Y

Candidate Answer: [ NOT ANSWERED ]

QID : 262 - Lakshadweep's High Court is located in which state of India?

TerEu BT I AT YR & 9 ITo0 § Ry 82
Options:

1) Tamil Nadu

2) Kerala

3) Andhra Pradesh
SR TSN

4) Karnataka
Fled

Correct Answer: Kerala

A
Candidate Answer: [ NOT ANSWERED ]

QID : 263 - Which among the following can be amended only by special majority in India?

fofafea 8 ¥ YRa & g T Ry sgud & gRT &) fasan S dadr g2
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Options:

1) Admission of New State

U ST BT T3

2) Salaries and allowances of Member of Parliament
TG & Haw! B dad adl U

3) Allowances of the President

Ul &

4) Ammendment of the Constitution via article 368
TG 368 & GRI HIAYH BT TRNYA
Correct Answer: Ammendment of the Constitution via article 368

TG 368 I GRT TAUM HT INeH
Candidate Answer: [ NOT ANSWERED ]

QID : 264 - Who among of the following started Marathi fortnightly newspaper 'Bahishkrit Bharat'?

i & ¥ wRIdt uifére TR o7 Sfiespd R f5ae g famar um
Options:

1) Dr. B. R. Ambedkar

31L& eR.

2) Vir Savarkar

R FIRHR

3) Vinobha Bhave

CEITI RN

4) Lokmanya Tilak

Correct Answer: Dr. B. R. Ambedkar
31, & eR.

Candidate Answer: [ NOT ANSWERED ]

QID : 265 - Who among the following did not ruled the Delhi Sultanate?

i 7 ¥ fram el ot Seama W I 7t fopa ame
Options:
1) Slave dynasty
RSIEER
2) Syed dynasty
EEU
3) Khilji dynasty
SR
4) Ghori dynasty
RIRUERY
Correct Answer: Ghori dynasty

DIRECN
Candidate Answer: [ NOT ANSWERED ]

QID : 266 - Who among of the following was the Viceroy of India when Indian University Act, 1904 was passed?

Fafifea & ¥ yRdig meTfaerey fafad, 1904 % TRd 81 & SRM YR & aieR™ S 42
Options:

1) Lord Dufferin

s SHRA

2) Lord Lansdowne
3) Lord Minto

4) Lord Curzon

TS Foi

Correct Answer: Lord Curzon

TS Foi

Candidate Answer: [ NOT ANSWERED ]

QID : 267 - Who among the following was also known as 'Zinda Pir'?

Fafitea & ¥ o9 R tR & 7 3 off S S ar?
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Options:

1) Akbar
EC

2) Jahangir
3) Shahjahan

RIS
4) Aurangzeb

Correct Answer: Aurangzeb

Candidate Answer: [ NOT ANSWERED ]

QID : 268 - 'Satyashodhak Samaj' was founded by whom?

NS JHIS BT RITGT {56 R B 718 i
Options:

1) Mahatma Gandhi

TRTET ekt

2) Jyotirao Phule

SR

3) Dr. B. R. Ambedkar
31, . 3R, SESIN

4) Swami Vivekanand

@t faderie

Correct Answer: Jyotirao Phule

Candidate Answer: [ NOT ANSWERED ]

QID : 269 -
Match the following.

Teafeiag &1 B HifFT)

Mountain Range / Continent/
ad @ Herda
1. Himalayas a. South America
eATerT ZeroT AT
2. Andes b. North America
TS a8 AN
3. Rocky c. Asia
Tehr ofrr

Options:

1)1-b,2-a,3-c
2)1-c,2-a3-b
3)1-¢c,2-b,3-a
4)1-3a,2-¢,3-b

Correct Answer: 1-¢c,2-3,3-b
Candidate Answer: [ NOT ANSWERED ]

QID : 270 - On which of the following date, summer solstice is observed in Southern Hemisphere?

frofafed & @ fra il w ol fared & Pwre srmia &1 S s g2
Options:

1) 21st December

21 feE®R

2) 5th August

5 3T

3) 18th July

18 JaTS

4) 11th January

11 SFad
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Correct Answer: 21st December
PARTEN
Candidate Answer: [ NOT ANSWERED ]

QID : 271 - Moraine is a kind of soil erosion that is caused by which of the following?

g (IRA) T USR $T el iRe § S Fuferiad & 9 f5g & SRor gt 32

Options:
1) Glacier

e

2) Wind
ag

3) River water
& &1 U

4) Underground water
oftrTa urh
Correct Answer: Glacier

fewTa

Candidate Answer: [ NOT ANSWERED ]

QID : 272 - 'Sardar Sarovar Dam' is on which of the following rivers?

WRER WIR sty Fafarad & 3 g T w 22
Options:
1) Krishna

Egull
2) Godavari

3) Narmada

FHar

4) Mahanadi

HErdl

Correct Answer: Narmada
Candidate Answer: [ NOT ANSWERED ]

QID : 273 - Which river of India has an Inland drainage?

URT B 7 e} 31 faeziig oa i g2
Options:

1) Tapi

andt

2) Ganga
T

3) Godavari
ICH

4) Luni

Sl

Correct Answer: Luni

Candidate Answer: [ NOT ANSWERED ]

QID : 274 - Who among the following is known as 'Father of Biology'?

fFrafifead # 9 52 <ia fagm &1 S 77 ST 82
Options:

1) Darwin

2) Aristotle

Y]

3) Heckle

4) Edward Jenner
TSTE OR
Correct Answer: Aristotle

SR

Candidate Answer: Darwin
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QID : 275 - Which of the following is necessary for Blood clotting in humans?

fafefad & o9 Ara A Yad &1 Yahl s & g sifHard 82
Options:
1) Vitamin A

2) Vitamin K
oA &
3) Vitamin C
[EEIEER)
4) Vitamin E

Correct Answer: Vitamin K
Candidate Answer: [ NOT ANSWERED ]

QID : 276 - Which of the following human gland produces Insulin?

frofofed & & o & U sgfem It 82
Options:

1) Spleen

faeett

2) Liver
gpd

3) Pancreas

SHURE

4) Pituitary Gland
=y

Correct Answer: Pancreas
SR

Candidate Answer: Pituitary Gland

gy iy

QID : 277 - What is the normal blood pressure in human beings?
Tt B XadErd GARId: faaer giar 82

Options:

1) 120/90

2) 120/80

3) 140/90

4) 140/100
Correct Answer: 120/80
Candidate Answer: [ NOT ANSWERED ]

QID : 278 - Who among the following is known as 'Father of Genetics'?

frofofed & 9 f5Y o &1 - e Fel T 82
Options:
1) Darwin
2) Mendel

3) Lamarck

4) De Vries
S

Correct Answer: Mendel
Candidate Answer: [ NOT ANSWERED ]

QID : 279 - Early blight is a common disease seen in which of the following?

3t g Fafefad # J b T w3 82
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Options:
1) Potato
S

2) Ginger
3P

3) Cabbage
st

4) Cauliflower
Tt

Correct Answer: Potato

SIeg
Candidate Answer: [ NOT ANSWERED ]

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=M...

QID : 280 - When an object is kept between two parallel plane mirrors then what is the number of images formed?

s ot aeg b1 & GHFIGR FHAS Ul & sie 1 ST §, d) S §U Uidfes @1 g b gt

Options:
1)1

2)2
3)4

4) Infinite

3Hd

Correct Answer: Infinite
3Hd

Candidate Answer: Infinite
3fid

QID : 281 - Friction can be reduced by which of the following?

1. Polishing surfaces
II. Use of lubricants
II1. Decreasing area of contact

T Fafiea & ¥ fPae &9 fhar o g 82

1. TGl B IHBTHL

11. Rrueiial & Wi @

1L W=l & &% d B HH HIb
Options:

1) Only I

Fad 1

2) Only II

Fad 11

3) Only I and II

Had I qUT I

4) All options are correct

it faded Tt § 1

Correct Answer: Only I and II

FHad I qUT 1T
Candidate Answer: Only I and II

PHad [ qUT I

QID : 282 - When the speed of a moving object is halved, its

Tt wrerclt g5 ag Bl 7Tl B 31T HRA W I gl
Options:

1) Kinetic energy becomes 1/4 of the original

TRt S URfYe b 1/4 € Sl

2) Kinetic energy becomes 4 times the original

TRt S TR o1 4 AT 8 Sl B

3) No change in the kinetic energy

Tt Sl H $Is gk et g 8

4) Acceleration is doubled

RO GTAT 81 STl 8

Correct Answer: Kinetic energy becomes 1/4 of the original
TIferst it URTYeb BT 1/4 B STl ©

Candidate Answer: [ NOT ANSWERED ]
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QID : 283 - The working principle of a mercury thermometer is

URT yHiEfeR % B A BT Rigia gl
Options:

1) Change in density of matter on heating
TRA X R Ued & o9@ H 9gad

2) Expansion of matter on heating

TRA F R Uerd FT IR

3) Thermal resistance of matter

Terdf BT &A1 el TRty

4) Change in mass of matter on heating

TRA HA R UE & GHAM § Jaad
Correct Answer: Expansion of matter on heating

TRY A R gerd &1 fawr
Candidate Answer: [ NOT ANSWERED ]

QID : 284 - What is storage size of commonly used floppy disks?

3T IR TR IJUTNT B W aTell AT fS%p 7 T=rg & o1 gidt 87
Options:
1) 2.0 MB

2.0 TSt

2) 4.0 MB

4.0 TSt

3) 1.44 MB

1.44 THET
4) 2.44 MB

2.44 TS
Correct Answer: 1.44 MB

1.44 THET

Candidate Answer: [ NOT ANSWERED ]

QID : 285 - Which of the following is managed by operating system?

I. Memory
II. Processor
III. Input/Output devices

frafefad & @ S yarad 9 gRT oFafRyd fhd S 22

I AER

I1. URRR

I1I1. 37Yc/3Mm3cyc fEamy
Options:

1)Only I

Fad 1

2)I, IIand III

I, I1 YT I11

3)IandII

IquriI

4) Only II

Fad 11

Correct Answer: [, IT and III
I, 11 YT 111

Candidate Answer: I, II and III
I, I1 YT I11

QID : 286 - Which of the following is used for ripening of fruits?

frofafed & 2 frge Iud val &t ue™ & for fsan s 82
Options:

1) Methylene

B RGIE]

2) Ethylene

URIES

3) Acetone

4) Methane
RS

Correct Answer: Ethylene

RGIE}
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Candidate Answer: [ NOT ANSWERED ]

QID : 287 - What is the major component of Gobar Gas?

TR T T T 9 T §2
Options:

1) Propane

IEC]

2) Butane
3) Methane

4) Ethylene

Correct Answer: Methane

e

Candidate Answer: Methane

e

QID : 288 - Rock Salt contains which mineral?

T 70 B B 91 | g 82
Options:

1) Gypsum

S

2) Sodium

3) Potassium
4) Magnesium
Correct Answer: Sodium

Candidate Answer: Magnesium

QID : 289 - Which of the following is not a transition metal?

Fafifed & ¥ o1 TP YA u1g T8 5?
Options:
1) Actinium

2) Bohrium
CliReE|

3) Osmium
SHTIeH
4) Radium

Correct Answer: Radium
Candidate Answer: [ NOT ANSWERED ]

QID : 290 - Which of the following is/are CORRECT?

Prafied 3 3 &9 @/ 98 2722
Options:
1) SPM — Suspended Particulate Matter
. 0. T - TSs A
2) COD — Chemical Oxygen Demand
. an. St - Bt siiaddied f$uis
3) Both SPM — Suspended Particulate Matter and COD — Chemical Oxygen Demand
. 0. T - TUSE uRfegpae Aex aur Y. o, & - Ffrea sifwdior feare gt
4) None of these
T A BIS el
Correct Answer: Both SPM — Suspended Particulate Matter and COD — Chemical Oxygen Demand
. 0. T - TS URfepae e aur Y. 3. € - Fiwa sifwiicr fsars gHf

Candidate Answer: [ NOT ANSWERED ]
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QID : 291 - In which year 'Project Tiger' was launched?

Toide TRIR' & fovd ad & Sy fosar T ur?
Options:

1) 1973

2) 1982

3) 1993

4) 1962

Correct Answer: 1973

Candidate Answer: [ NOT ANSWERED ]

QID : 292 - Which of the following is non-biodegradable?

1. Glass
II. Cotton
III. Paper

FrafefEd # 3 o Safea (Srfsissd) T8 82

I <i=m

IL. %%

III. TS
Options:
1)Only I
FHad 1

2) I and III
IdYr 11

3) II and III
II YT III

4) 1, Il and III
I, IT QT II1

Correct Answer: Only I

Fad I

Candidate Answer: Only I

Fad I

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=M...

QID : 293 - The agricultural ministry has unveiled 'A.P.M.C. Act 2017' which has defined each state/UT as a

FY Tarea 3 o um . st ET 2017 &1 3FTERUT fan B S 8 Isay/dh i wiid Tew &Y U Bt e IR el B

Options:

1) Single unified market

THhd Ygad TR

2) Multiple unified markets

SEHRT T TR

3) Single diversified market

THd fafdy ek

4) Multiple diversified Market

TR fafdy ek

Correct Answer: Single unified market
LERERESEISIN

Candidate Answer: [ NOT ANSWERED ]

QID : 294 - Who amongst the following discovered 'electron'?

frafefed & & fooem gadel o1 SfashR fopar
Options:

1) Archimedes

STHTSTS

2) Roald Amundsen

ST AT

3) J. J. Thomson

I, S, YfTed

4) Rudolf Diesel

FSIeh Srad

Correct Answer: J. J. Thomson
I, S, YfTed

Candidate Answer: J. J. Thomson
. o U
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QID : 295 - 'Him Gold Cup' is related to which sport?

& ies Fu e I ¥ efia &7
Options:
1) Cricket

2) Boxing
3) Hockey
4) Volleyball
it
Correct Answer: Hockey

Candidate Answer: [ NOT ANSWERED ]

QID : 296 - Which of the following pair is incorrect?

fufafea & 9 19 1 gm e 76 82
Options:

1) Sanjukta Panigarhil - Odissi Dance
TG TIOg — Sifed T

2) Shiv kumar Sharma — Flute

19 AR 7wl - g

3) Raja Ravi Verma — Painter

ol MY ot - femaR

4) Ustad Vilayat Khan — Sitar

Ixre faamd @ - RER

Correct Answer: Shiv kumar Sharma — Flute
19 AR 7wl - g

Candidate Answer: [ NOT ANSWERED ]

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=M...

QID : 297 - Which album received the 'Album of the year' award at the 59th Annual Grammy Awards?

59 Taey 3 59 of I It QR WARIE H Tead 1w g SR U famam?

Options:
1) 25
2) Lemonade

3) Purpose

4) Views

ol

Correct Answer: 25
Candidate Answer: Purpose

QID : 298 - 'Khullam Khulla' is an autobiography of which famous actor?

e Qoo e Rig S &1 sffee 82
Options:

1) Shatrughan Sinha

g R

2) Mithun Chakarborty

forT agpaddf

3) Jeetendra

4) Rishi Kapoor

TR

Correct Answer: Rishi Kapoor

B PR

Candidate Answer: [ NOT ANSWERED ]

QID : 299 - India and Turkey have signed three agreements in the fields of ICT, training and on May 1, 2017.

R T ol = 31 A <&, ufnegor qur ¥ &3 A 1 7 2017 B i FHGT W THIER B B
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Options:
1) Trade
UR

2) Culture

3) Education
fRram
4) Agriculture

T

Correct Answer: Culture

Candidate Answer: [ NOT ANSWERED ]

QID : 300 - New oil terminal to be built at Motihari in Bihar will supply fuel to .

f9eR & AifaeRt & S 9 a1 74 ad S7gT FI AT TS BT
Options:

1) Myanmar

AR

2) Bhutan

Y

3) China
GG

4) Nepal
B

Correct Answer: Myanmar

THAR
Candidate Answer: [ NOT ANSWERED ]

QID : 301 -
Which value among 47, 311 and 31257 is the largest?

47, 311 aur '$1257 F waw < gEar A9 o §2

Options:
1)

2)
47
3)
4) All are equal
Tt TR §

Correct Answer:

Candidate Answer: All are equal
Tt IR &

QID: 302 -
What is the value of

1.1 1 .4 1 1
T+ +—=+.M+—=+—+ T+—+=7
\/ 8 \f s \/ 4 5

1 1 .1 1 .1
\/ +—+3—2+\f1+3—2+?+\/1+?+5—2 BT AT

3
a
T 7
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Options:
1) 18/5

2) 4/3
3)7/3

4) 33/10
Correct Answer: 33/10
Candidate Answer: [ NOT ANSWERED ]

QID : 303 - What is the value of (203 + 107)2 - (203 - 107)2?

(203 + 107)2 - (203 - 107)2 T A FT 3?
Options:
1) 85886

2) 86884
3) 43442

4) 87884
Correct Answer: 86884
Candidate Answer: 86884

QID : 304 - If 46N is divisible by 18, then what is the value of N?

g 46N, 18 T faHTRI SXt 8, Y N T H1F T R?
Options:

1)2

2)4

3)7

4)8

Correct Answer: 8

Candidate Answer: 8

QID : 305 - Which is the smallest four digit number that is a perfect square?

IR 3fe! Bl 98 D H T B I & o ueb ol ol g2
Options:

1) 1024

2) 1048

3) 1021

4) 1089

Correct Answer: 1024

Candidate Answer: 1024

QID : 306 - Aman and Raman together complete a piece of work in 30 days, Raman and Manan can complete the same work in 36 days and Manan and Aman can
complete the same work in 45 days.All of the three working together can complete the work in how many days?

ST qUT T FAaaR U 1l oY 30 3 & Q-1 AR Tkl §, XA U1 FAA ST 1 Y 36 A B R AR T § IR A U1 3 I B Y 45 A H OR1 R wha
B1 1 iR S0 ol ) o fAT o o7 e Tl 82

Options:

1) 12

2) 18

3) 24

4)28

Correct Answer: 24

Candidate Answer: 24

QID : 307 - Two pipes A and B can fill a tank in 20 hours and 24 hours respectively. If the two pipes opened at 5 in the morning, then at what time the pipe A
should be closed to completely fill the tank exactly at 5 in the evening?

T T A T B, T TH1 B HHRT: 20 TUT 24 B¢ T 1R TS & TG Q1 7 B! Gag b 5 Tl VI 14T SN, f AW 31 5 Tl Tl BT T HRA & 7T 70 A B $§ 8¢
FR I AIMRW?
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Options:
1) 3 pm

Correct Answer: 3 pm
3 W&
Candidate Answer: [ NOT ANSWERED ]

QID : 308 - The marked price of a cycle is Rs 36800. If 24% discount is given, then what will be the selling price (in Rs) of the cycle?

TF TTEfa &1 siftd g 36800 ¥. B 1 A 24% @1 ge <t 9T A wisfra &1 fawa gew (3. ®) 71 gm
Options:
1) 26168

2) 27168
3) 27968

4) 28142
Correct Answer: 27968
Candidate Answer: 28142

QID : 309 - An article having marked price Rs 1800 is sold for Rs 1476. What is the discount percentage?

T a¥g T 3ifohd I 1800 . B, B 1476 . T 5= STl 81 g BT Ufad 7 82
Options:
1) 14

2)15
3) 16

4) 18
Correct Answer: 18
Candidate Answer: 18

QID : 310 - The ratio of two numbers is 5 : 11. If both numbers are increased by 10, the ratio becomes 7 : 13. What is the sum of the two numbers?

G TReafl &7 U 5 : 11 71 3 & et B 10 @t 9fs FY 9, O SUTd 7 ¢ 13 B ST 81 &l GReed 1 AT o1 g
Options:

1)80

2)32

3) 48

4) 160

Correct Answer: 80

Candidate Answer: [ NOT ANSWERED ]

QID: 311 - If 3P = 5Q = 15R, then whatis P : Q : R?

g 3P =5Q = 15R g, AP : Q : R T BNM?
Options:

1)5:3:4

2)5:3:1

3)3:5:15

4)15:5:3

Correct Answer: 5:3:1

Candidate Answer: 5:3:1

QID : 312 - What is the average of the cubes of the first 13 natural numbers?

YT 13 Wipfae SRemsit & o 3T 3iya @ gnfl?
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Options:
1) 196
2) 364
3) 485
4) 637

Correct Answer: 637
Candidate Answer: 637

QID : 313 - The average of 50 results was calculated as 30 but later it was found that while calculating, 73 was taken as 33 by mistake, then what will be the
correct average?

50 GRUITAT o7 37 30 TR foar a1 T Afe a1 § T8 UdT Iall i Tt § URee & J9Y 73 & sSeol 33 3 foram mam o1, f 9l 3iiga o1 g

Options:
1) 29.2

2) 30.8
3)31.6

4) 34
Correct Answer: 30.8
Candidate Answer: [ NOT ANSWERED ]

QID: 314 -
By selling a table for Rs 2700 a man gets 10% loss,
and then at what price (in Rs) should he sell to gain

331%?
3

T = & T A 2700 T. F o= 9T 10%
o A L A AT B g FeE (7. F) W

aﬁamﬁmﬁﬁﬁaﬁsaé% @ ATH UTH 7

Options:
1) 3000

2) 3300
3) 3600

4) 4000
Correct Answer: 4000
Candidate Answer: 3300

QID : 315 - A trader sells two articles for Rs 14784 each. If he gains 12% on one and losses 12% on other, then what is the value (in Rs) of the loss?

TH AIRY & TGS BT 14784 F U 9] & <MW W 991 ¢ 1 Afe IV TH GG W 12% BT A TUT TR I W 12% P g1 Sl &, 1 8 &1 AF (3 H) 71 g
Options:

1) 300

2) 368

3) 432

4) 498

Correct Answer: 432
Candidate Answer: [ NOT ANSWERED ]

QID : 316 - If the length of a rectangle is decreased by 20% and breadth is decreased by 40%, then what will be the percentage decrease in the area of the
rectangle?

TfE U 3T B THETE H 20% BT HHI P Tl & TUT SIS B 40% BT HH I 9t 8, ° AT P &7hd H fha- ufaera o1 ot grite
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Options:
1) 48

2) 52
3) 60

4) 40
Correct Answer: 52
Candidate Answer: 52

QID : 317 - If the radius of sphere is decreased by 10%, then by what percent volume of sphere will decrease?

TP M BT 30 T 10% P B Bt o1l 8, O T & Hra § foba- ufawrd &t ot geire
Options:

1) 30

2)27.1

3)29.3

4) 28.5

Correct Answer: 27.1

Candidate Answer: 27.1

QID : 318 - 45 pillars are standing in a line such that distance between any two consecutive pillars is same. A car travelling with uniform speed of 72 km/h takes 18
seconds to reach from 15t pole to 10t pole. What is the distance between 10t and 315t pole (in metres)?

45 Tl U At U B 39 UHR WS § 5 B o & wana @nil 3t di9 3t gl tE 99F 21 T R 72 fm. uf ger 3 i 99n R usd @ 10 3 @n % ugan
7 18 Y A 21 10 F TWY T 31 § W F i B g (e F) T e

Options:

1) 800

2) 820

3) 840

4) 910

Correct Answer: 840

Candidate Answer: [ NOT ANSWERED ]

QID : 319 - Two trains are moving in the same direction at speed of 54 km/h and 92 km/h, their lengths are 400 m and 360 m respectively. What is the time taken
(in seconds) by faster train to cross the slower train?

Q1 Yemifear 54 .. ufa der aur 92 o . vy der 1 & wEE fown & 9@ W et awrE HH: 400 Hier qut 360 Hier 31 A9 i arelt Yerma el wif areft
YS! B IR dA | 1 99 (Ydbs ) A

Options:

1) 60

2)72

3)81

4) 90

Correct Answer: 72

Candidate Answer: [ NOT ANSWERED ]

QID : 320 - What is the compound interest (in Rs) on Rs 2400 at the rate of 20% per annum compounded yearly for 2 years?

2400 ¥. TR 1 TIoH gRT 20 Tfowrd Ul 99 &t X § 2 9uf & fiye aran awafe s (3 7 ) 31 e

Options:

1) 960

2) 1024

3) 1056

4) 1120

Correct Answer: 1056

Candidate Answer: 1056

QID : 321 - An amount was lent for one year at the rate of 10% per annum compounding annually had the compounding been done half yearly, the interest would
have increased by 80. What was the amount (in Rs) lent?

TF YRR &1 J1ffes e R 1 o & e 10 vfard ufaay aswafs e &t @R F SUR fean w1 T afg e & sifarfies 89 W, =T 80 ¥. §g ST 81 SUR
< oI (% H) @ g
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Options:
1) 16000
2) 32000
3) 48000
4) 64000

Correct Answer: 32000
Candidate Answer: [ NOT ANSWERED ]

QID:322-

The line chart given below represents the sales (in ‘'00) of

trousers and shirts for five months.

@ fom o Y@ e # Ui 3w wE fr o A7t

Fr fesfr (00 #) T ST =T

Sales (in "00) / fashY ("00 )

80
70
60
50
40
30
20
10

~*Trouser /% ™ Shirt/ FHeT

70 65

40 34

30

January /February March/ April/  May/
saall /wElt AW e AS

Month / Fgi=T

What is the difference between sales of shirts for months January and April?

A quT S0 TEA B g wHie @) St § fha ofR 82

Options:
1) 2700

2) 1500
3) 2000

4) 2200

Correct Answer: 1500
Candidate Answer: 1500
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QID:323-

The line chart given below represents the sales (in '00) of

trousers and shirts for five months.

@ fr o T o & def gur e o JdeEr

Fr =Y (00 #) T T AT E

80
70
60
50
40
30
20
10

Sales (in "00) / fashr (00 )

~“*Trouser /e ™ Shirt/ FHeT

70 65

40 34

30

January /[February March/ April/  May/
Saall /eEd A e ag

Month / #EAT

What is the percentage increase in the sales of the trousers from January to February?

A A R # U 3 faep! H fora T &t Fgion g% o2

Options:
1) 25

2) 20
3) 10

4)28

Correct Answer: 25
Candidate Answer: 25
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QID:324-

The line chart given below represents the sales (in '00) of
trousers and shirts for five months.

@ fr o T o & def gur e o JdeEr
Fr TRAT (00 F) @ RTTT =T T

~“*Trouser /e ™ Shirt/ FHeT
801 7O
70 4
60 -
5041 40
40 | 34
30 ~
20 30
10 A
0 . T : . ;

January /[February March/ April/  May/
Saall /eEd A e ag

Month / #EAT

65

Sales (in "00) / fashr (00 )

In March sale of trousers is what percent of sale of shirts?

ard | TSt @1 et wHien 31 5wt &1 b faeia 32
Options:

1) 83.33

2) 54.54

3) 125

4) 183.33

Correct Answer: 183.33
Candidate Answer: 183.33
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QID : 325 -

The line chart given below represents the sales (in '00) of
trousers and shirts for five months.

= Bo o W R # o g e A om 38t
Fr =Y (00 #) T T AT E

~“*Trouser /e ™ Shirt/ FHeT
801 7O
70 4
60 -
5041 40
40 | 34
30 ~
20 30
10 A
0 . T ;

January /[February March/ April/  May/
Saall /eEd A e ag

Month / #EAT

65

Sales (in "00) / fashr (00 )

Total sale of shirts for five months is how much percent more than the total sale of trousers for five months?

U A1 & fore weitelt ot oot difa wél & ferg Ot &t fospt 9 forem! wfarsra oifres &2
Options:
1) 30.84
2) 38.46
3) 44.61
4) 49.94

Correct Answer: 44.61
Candidate Answer: [ NOT ANSWERED ]

QID : 326 - The ratio of curved surface area of two cones is 1 : 9 and the ratio of slant height of the two cones is 3 : 1. What is the ratio of the radius of the two
cones?

& ol & o I8 F ! BT U 1 : 9 § TUT G Kol Bl RS SIS &1 3[UId 3 @ 1 71 S Kigpsft ot FBan &1 Surd o1 82
Options:

1)1:3

2)1:9

3)1:27

4)1:1
Correct Answer: 1 : 27
Candidate Answer: 1 : 27

QID : 327 - If the area of a square is 24, then what is the perimeter of the square?

i U ol &1 &b 24 8, O I B GRFY a1 SRl
Options:
1) 2v6

2) 46
3) 16v6

4) 8v6
Correct Answer: 8V6
Candidate Answer: 8v6
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QID : 328 - What is the total surface area (in cm?) of a cylinder having radius of base as 7 cm and height as 15 cm?

TP Jo e R B Biear 7 3., qur S 15 3. B, 71 oo gEi e (J.7.2 F) 7 g
Options:

1) 814

2) 616

3) 968

4) 780

Correct Answer: 968

Candidate Answer: 616

QID : 329 - A cylindrical well of height 40 metres and radius 7 metres is dug in a field 56 metres long and 11 metres wide. The earth taken out is spread evenly on
the field. What is the increase in the level of the field?

56 Hiex Td a7 11 Hiex IS T B TS 40 Hier TeRTs a1 7 Hex B ot Ia R $U &1 Wigl T $U F Fprelt 78 et &1 ¥a & v 90 S 9 e T g
QA P TR H ot Fgiadt g e

Options:

1) 12.5

2) 10.66

3) 115

4)13.33

Correct Answer: 13.33

Candidate Answer: [ NOT ANSWERED ]

QID : 330 - A cuboid of sides 5 cm, 10 cm and 20 cm are melted to form a new cube. What is the ratio between the total surface area of the cuboid and that of the
cube?

T gAY ot Yo 5 .41, 10 9.1, Tur 20 9., B, ) FaareR U T O7 SHE1 91 g1 9 3R U9 & YS St 6 T Surd g
Options:

1)6:5

2)7:6

3)11:10

4)9:7

Correct Answer: 7 : 6

Candidate Answer: [ NOT ANSWERED ]

QID: 331-

. 1 1
What is the value of {1—;{“3_‘” sy x(q_p}}?

1 1
[‘T—x‘p“” L 1_ xtq—p}} HT T F T

Options:

1)0

2)1

3) (X9 - xP)/(x9 + xP)

4) (A +XP)/(x - x)
Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]

QID: 332 -
Options:
1)3

2)7

3)9

4) 11
Correct Answer: 3
Candidate Answer: 3
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QID:333-Ifa+b+c=-11, then what is the value of (a + 4)3 + (b + 5)3 + (c + 2)3 - 3(a + 4)(b + 5)(c + 2)?
gea+b+c=-11%, @+ 43+ (b +5)3 + (c + 2)3 - 3(a + 4)(b + 5)(c + 2) BT A T BIT?

Options:

1) -1331

2)-121

3)0

4) 1331
Correct Answer: 0
Candidate Answer: 0

QID: 334 -
if J7x+12+~7x-12= 3+./33, then what is the
value of x?

T Tx+12+Tx-12=3+-33 & S x &=

AT FIT SE?

Options:
1)0

2)1
3)3

4)9
Correct Answer: 3
Candidate Answer: [ NOT ANSWERED ]

QID: 335 - If x + (1/x) = 3V, then what is the value of x> + (1/x%)?

TR x + (1/x) = 3V2 8, @ x5 + (1/x5) BT M 1§12
Options:

1) 178V3

2) 789v2

3) 1581v2

4) 7172

Correct Answer: 717v/2

Candidate Answer: [ NOT ANSWERED ]

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=M...

QID : 336 - In APQR, a line parallel to side QR cuts the side PQ and PR at points M and N respectively and point M divide PQ in the ratio of 1 : 2. If area of APQR is

360 cm?, then what is the area (in cm?) of quadrilateral MNRQ?

APQR , YSTT QR & JHMIAR Teh YW, YT PQ TUT YT PR I HHRT: fomg M T N TR Frec § auT fag M Yo PQ &1 1 : 2 % 3urd & diecht §1 afd APQR FT &=whdt

360 .12 B, A IgYT MNRQ &7 &thet (J.7.2 H) fsam g
Options:

1) 160

2) 320

3) 120

4) 96

Correct Answer: 320

Candidate Answer: 160

QID : 337 - ABC is an isosceles triangle such that AB = AC = 30 cm and BC = 48 cm. AD is a median to base BC. What is the length (in cm) of AD?

ABC U% THfgaTg Iy & S/ AB = AC = 30 9.7f). quT BC = 48 .70, B 1 AD 3MTHR BC F AfAIHT 81 AD &1 0 (J. 7. o) F1 82

Options:

1) 18

2)20

3) 24

4) 32

Correct Answer: 18
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Candidate Answer: 18

QID : 338 - In AABC, .C = 54°, the perpendicular bisector of AB at D meets BC at E. If .EAC = 42°, then what is the value (in degrees) of ~ABC?

ST ABC T, .C = 54° §, fiig D I AB &1 THfgHTSI T BC 1 fig E WR iy 81 3fg LEAC = 42° B, @ L ABC &1 A (f&ft &) 7 g
Options:

1) 25

2) 42

3) 50

4) 60

Correct Answer: 42

Candidate Answer: [ NOT ANSWERED ]

QID : 339 - In an isosceles triangle DEF, .D = 110°. If I is the incentre of the triangle, then what is the value (in degrees) of -EIF?

T FHfgaTg Y DEF H, D = 110° 31 3fE 1 FYS T st ©, o -EIF &1 9 (& &) Fm g2

Options:
1) 110

2) 130
3) 145

4) 155
Correct Answer: 145
Candidate Answer: 145

QID : 340 -
In the following figure, O is the centre of the circle
and ZPRQ = 50°. What is the value (in degrees) of
ZPTQ?

& oS wngfa #, Og9 & Feg ¥ IW LPRQ=50°
¥ PTQ &1 & (FBah &) T &2

Options:
1) 100

2)75
3) 130

4) 150
Correct Answer: 130
Candidate Answer: 100

QID : 341 - If 2cos? 6 - 1 = 0 and 8 is acute, then what is the value of (cot? 8 - tan? 8)?

& 20052 6 - 1 = 0 TUT © FABIV B, Tl (cot? B - tan2 O) BT T T TP
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Options:

1)0

2)2

3) 10/3

4)1

Correct Answer: 0
Candidate Answer: 0

QID:342-
1 1
cosB +secH

8 +sec!0g?

_ 4 .1
cosB+secB 2
AT &1 §?

Options:

1)0

2)1

3)2

4)4

Correct Answer: 2
Candidate Answer: 2

QID : 343 -

What is the simplified value of 1 + cot A cotLg

1 +cotA coi[%} T TG AT FT &2

Options:
1)

ol

4) cos A
Correct Answer:

1 2 (A
—COosec | —
2 L2J

Candidate Answer: [ NOT ANSWERED ]

= —, then what is the value of cos?

t arcos'™B +sec'™p @
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QID: 344 -
( \
If tan Lg} tan[%eJ =1, then what is the value (in

degrees) of 67

ofe tan[%]tan[?}fl € dar e @ # T (Fah #)
;T 2

Options:
1) 45°

2) 90°
3) 100°

4) 120°
Correct Answer: 100°
Candidate Answer: [ NOT ANSWERED ]

QID : 345 -
What is the simplified value of
S 2 200887
cosec" 8 1+tan“B
3 5
- —2cos’ 8 T TP A

cosec’8 1+tan’B

T &7

Options:
1)3

2) 4
3)5

4)7
Correct Answer: 3
Candidate Answer: [ NOT ANSWERED ]
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QID : 346 -

The given pie chart shows the expenditure (in

degrees) incurred in making a book.

for v @@ " # 1% g @99 W few oo

=y (B #) & gl = &

Others /
g
15%

Binding/
Sregars
33%

Paper/

25%

Printing /

goT
27% |

If the total expenditure is Rs 60000, then what is the expenditure (in Rs) on the Printing?

I He I 60000 ¥. B, A U1 W far w1 =07 (3. W) 1 82

Options:
1) 18400

2) 14800
3) 13400

4) 16200

Correct Answer: 16200

Candidate Answer: 16200
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QID: 347 -

The given pie chart shows the expenditure (in

degrees) incurred in making a book.

for v @@ " # 1% g @99 W few oo

=y (B #) & gl = &

Others /
g
15%

Binding/
Sregars
33%

Paper/

25%

Printing /

goT
27% |

What is the central angle (in degrees) of the sector made by the expenditure on Paper?

BT WR BT U g & & GRT ST 71 < iy (53 &) w82

Options:
1) 25

2)75
3) 90

4) 120
Correct Answer: 90
Candidate Answer: 90

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=M...

7/31/17, 8:29 PM



Staff Selection Commision http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=M...

QID : 348 -

The given pie chart shows the expenditure (in
degrees) incurred in making a book.

for v @@ " # 1% g @99 W few oo
=g (Bl ) @ g = §

Others/
g
15% Paper/
CaniE )
25%
Binding/
frecars Printing /
33% Aaor
27% ,

The expenditure on Binding is how much percent more than the expenditure on Paper?
el TR faar a1 o SIS R 6T 70 o7 ¥ fsdn ufowra s 82

Options:

1) 32

2) 24.24

3) 28.18

4) 34
Correct Answer: 32
Candidate Answer: 32
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QID : 349 -

The given pie chart shows the expenditure (in

degrees) incurred in making a book.

for v @@ " # 1% g @99 W few oo

=y (B #) & gl = &

Others /
g
15%

Binding/
Sregars
33%

Paper/

25%

Printing /

goT
27% |

If expenditure on Paper is Rs 20000, then what is the expenditure (in Rs) on Binding?

I HIT W a1 14T 399 20000 F. €, A SUS W b a1 307 (3. H) 7182

Options:
1) 24600

2) 26400
3) 28000

4) 22800

Correct Answer: 26400

Candidate Answer: 26400
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QID : 350 -
The given pie chart shows the expenditure (in
degrees) incurred in making a book.

for v @@ " # 1% g @99 W few oo
=g (Bl ) @ g = §

Others /
g
15% Paper/
CaniE )
25%
Binding/

frecars Printing /
33% qaoT
27% ,

In Others there are only two types of expenditures viz. Marketing and Distribution in ratio 3 : 2 respectively. What will be the central angle (in degrees) made by the
sector of expenditure on Marketing?

3 ¥ Had & YHR & o7 § JUT FAque qut faaror o 3 : 2 & Surd & 71 fIuue W 5 U ora & & & gRT S T S wior (Rewht 7) @ g
Options:
1) 21.6

2) 32.4
3) 27

4) 36
Correct Answer: 32.4
Candidate Answer: 21.6

QID: 351 -

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a
sentence is free from error, select 'No Error'.

Not only her husband (1)/ but even her father (2)/ also find her selfish. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 3

Candidate Answer: 4

QID:352-

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a
sentence is free from error, select 'No Error'.

The West Indies team had (1)/ not won any match (2)/ last year. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 4
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Candidate Answer: 4

QID: 353 -

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a
sentence is free from error, select 'No Error'.

If you inform me of Kanika's (1)/ arrival time I shall go to (2)/ attend her at the airport. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 2

Candidate Answer: 3

QID : 354 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Hardly had he come out of the (1)/ cinema hall then the bomb exploded (2)/ and shattered the hall completely. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 2

Candidate Answer: 1

QID : 355 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Because copper prices are going down (1)/ demand for alternative (2)/ products to copper are lessening. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 3

Candidate Answer: 3

QID : 356 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

I agree your proposal.
Options:

1) for

2) of

3)to

4) on

Correct Answer: to
Candidate Answer: to

QID : 357 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

As soon as he received the call the hospital, he left the home.
Options:

1) off

2) with

3) from

4) at

Correct Answer: from

Candidate Answer: from

QID : 358 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

While travelling to Bangalore I ran a very old friend of mine.
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Options:

1) across

2) up

3) against

4) into

Correct Answer: into
Candidate Answer: across

QID : 359 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

I will leave Australia before three months
Options:

1) would have passed

2) would pass

3) have passed

4) will pass

Correct Answer: have passed

Candidate Answer: have passed

QID : 360 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Ever since Rashmi's parents died, her maternal grandparents had all her needs.

Options:

1) seen off

2) seen through
3) seen to

4) seen by

Correct Answer: seen to
Candidate Answer: seen through

QID : 361 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Welter

Options:

1) turmoil

2) laconic

3) difficult

4) vile

Correct Answer: turmoil
Candidate Answer: vile

QID : 362 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Decrepit
Options:
1) firm
2) fate
3) feeble
4) flee

Correct Answer: feeble
Candidate Answer: [ NOT ANSWERED ]

QID : 363 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Melancholy
Options:

1) thrifty

2) curious
3) sorrowful
4) chastity

Correct Answer: sorrowful
Candidate Answer: sorrowful

QID : 364 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Hysteria
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Options:

1) ignorance

2) generous

3) madness

4) expensive

Correct Answer: madness
Candidate Answer: madness

QID : 365 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Reticence
Options:

1) substitute
2) reserve
3) flatter

4) request

Correct Answer: reserve
Candidate Answer: flatter

QID : 366 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Expurgate
Options:
1) slide

2) permit
3) decline
4) fall

Correct Answer: permit
Candidate Answer: permit

QID : 367 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Virtuous

Options:

1) sinful

2) disagreeable

3) equivocal

4) incredible

Correct Answer: sinful

Candidate Answer: equivocal

QID : 368 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Wicked

Options:

1) cautious
2) anxious
3) doubtful
4) righteous

Correct Answer: righteous
Candidate Answer: righteous

QID : 369 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Chagrin
Options:
1) remorse
2) sniffle
3) famished
4) pleasure

Correct Answer: pleasure
Candidate Answer: pleasure

QID : 370 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Diabolical
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Options:
1) lavish
2) ornate
3) wicked
4) moral

Correct Answer: moral
Candidate Answer: moral

QID : 371 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Faint hearted
Options:

1) Calm

2) Timid

3) Lovable

4) Courageous

Correct Answer: Timid
Candidate Answer: Timid

QID : 372 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

To lead astray

Options:

1) To take back what you have said

2) To misguide

3) To achieve two results with one effort
4) To apologize humbly

Correct Answer: To misguide
Candidate Answer: To misguide

QID : 373 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

To make a pile

Options:

1) To keep at a distance

2) To make a lot of money
3) To aggravate the situation
4) To face the risk

Correct Answer: To make a lot of money
Candidate Answer: To aggravate the situation

QID : 374 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Back out of
Options:
1) Decimate
2) Record
3) Withdraw
4) Pertain

Correct Answer: Withdraw
Candidate Answer: Withdraw

QID : 375 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Throw over

Options:

1) Enumerate

2) Invent

3) Reprimand

4) Reject

Correct Answer: Reject
Candidate Answer: Enumerate

QID : 376 - Improve the bracketed part of the sentence.

She doesn't hesitate to do whatever her husband (does).
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Options:

1) would do

2) did

3) shall do

4) no improvement

Correct Answer: no improvement
Candidate Answer: did

QID : 377 - Improve the bracketed part of the sentence.

The teacher was angry (with) Rahul as he had not done the homework.
Options:

1) from

2) at

3) on

4) no improvement

Correct Answer: no improvement

Candidate Answer: at

QID : 378 - Improve the bracketed part of the sentence.

Kunal has done nothing (from) yesterday.
Options:

1) since

2) through

3) after

4) no improvement

Correct Answer: since
Candidate Answer: since

QID : 379 - Improve the bracketed part of the sentence.

The boss has instructed all of us to finish the project by tomorrow, (isn't it)?
Options:

1) didn't she?

2) hasn't she?

3) has she?

4) no improvement

Correct Answer: hasn't she?
Candidate Answer: hasn't she?

QID : 380 - Improve the bracketed part of the sentence.

Garima has her meal at three, (when she has it), she goes off to sleep.
Options:

1) when she will have it

2) when she has had it

3) when she will have had it

4) no improvement

Correct Answer: when she has had it

Candidate Answer: when she has had it
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QID : 381 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

A person who starves the body for the good of the soul
Options:

1) pacifist

2) paranoia

3) ascetic

4) idiosyncrasy

Correct Answer: ascetic

Candidate Answer: paranoia

QID : 382 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

To make evasive or misleading statement
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Options:

1) prevaricate

2) peroration

3) sophist

4) ineffable

Correct Answer: prevaricate

Candidate Answer: prevaricate

QID : 383 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

A very delicate flaw or mistake which is not expected from the person making it
Options:

1) sanguine

2) sacrament

3) solecism

4) sententious

Correct Answer: solecism
Candidate Answer: solecism

QID : 384 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

The practice of taking exorbitant or excessive interest on the money lent
Options:

1) emissary

2) usury

3) venal

4) macabre

Correct Answer: usury
Candidate Answer: macabre

QID : 385 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Sea with a group of many islands
Options:

1) archipelago

2) scullery

3) ablution

4) etiology

Correct Answer: archipelago
Candidate Answer: scullery

QID : 386 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) curriculum

2) couragious

3) collaborate

4) cylinder

Correct Answer: couragious

Candidate Answer: curriculum

QID : 387 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) deficiency

2) dictionary

3) diaphragm

4) diabeties

Correct Answer: diabeties

Candidate Answer: diabeties

QID : 388 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) advertise

2) addiction

3) anniversory

4) amateur

Correct Answer: anniversory
Candidate Answer: amateur

QID : 389 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.

http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=M...

7/31/17, 8:29 PM



Staff Selection Commision http://thepracticetest.in/cs_sipco_17/response_questions.php?t_id=M...

Options:

1) restaurant
2) rhinoceros
3) righteous
4) rehetorical

Correct Answer: rehetorical
Candidate Answer: rhinoceros

QID : 390 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) successive

2) tomorrow

3) solemly

4) trespasser

Correct Answer: solemly

Candidate Answer: tomorrow

QID : 391 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.

Broadly speaking, education aims to to objectives — first, to train the student in such a way as to make his life happy and , and secondly to provide him
with of various kinds. The knowledge imparted by education embodies the immense acquired by the human race through ages. This knowledge, again,
can be classified under two heads-one, relating to the or reasoning, the other relating to the sphere of feeling.

Broadly speaking, education aimsto ______ two objectives
Options:

1) achieve

2) determine

3) regress

4) mark

Correct Answer: achieve

Candidate Answer: achieve

QID : 392 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.

Broadly speaking, education aims to to objectives — first, to train the student in such a way as to make his life happy and , and secondly to provide him
with of various kinds. The knowledge imparted by education embodies the immense acquired by the human race through ages. This knowledge, again,
can be classified under two heads-one, relating to the or reasoning, the other relating to the sphere of feeling.

such a way as to make his life happy and ,
Options:

1) challenging

2) interesting

3) meaningful

4) boring

Correct Answer: meaningful

Candidate Answer: meaningful

QID : 393 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.

Broadly speaking, education aims to to objectives — first, to train the student in such a way as to make his life happy and , and secondly to provide him
with of various kinds. The knowledge imparted by education embodies the immense acquired by the human race through ages. This knowledge, again,
can be classified under two heads-one, relating to the or reasoning, the other relating to the sphere of feeling.

and secondly to provide him with of various kinds.
Options:

1) resources

2) power

3) knowledge

4) money

Correct Answer: knowledge

Candidate Answer: knowledge
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QID : 394 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.
Broadly speaking, education aims to

to objectives — first, to train the student in such a way as to make his life happy and , and secondly to provide him

with of various kinds. The knowledge imparted by education embodies the immense acquired by the human race through ages. This knowledge, again,
can be classified under two heads-one, relating to the or reasoning, the other relating to the sphere of feeling.

education embodies the immense acquired by the

Options:

1) caliber

2) happiness

3) growth

4) experience
Correct Answer: experience
Candidate Answer: caliber

QID : 395 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.

Broadly speaking, education aims to to objectives — first, to train the student in such a way as to make his life happy and , and secondly to provide him
with of various kinds. The knowledge imparted by education embodies the immense acquired by the human race through ages. This knowledge, again,
can be classified under two heads-one, relating to the or reasoning, the other relating to the sphere of feeling.

classified under two heads-one, relating to the
Options:

1) emotions

2) intellect

3) senses

4) strength

Correct Answer: intellect

Candidate Answer: strength

or reasoning, the other

QID : 396 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the
given four alternatives.

Keeping employees happy, motivated, and on the payroll is one of the key concerns to businesses these days because it's an open market for top talent. A good
employee can walk out of the door today and have a comparable or better job tomorrow. Which brings up a very important question: what would the companies do
to keep away that person from even thinking about going to work elsewhere? Gone are the days when the monthly paycheck and two weeks' vacation a year were
enough to keep employees happy. Employers must come up with irresistible incentives to keep top talent onboard. The results of a recent survey by Fortune
Magazine on why people leave their jobs shows that 30 percent leave for better compensation and benefits, 27 percent for a better career opportunity, 27 percent
for new experience, 21 percent are dissatisfied with opportunities at current job, and 16 percent desire to change careers or industries. Money is no longer the only
major motivator. So, is this an onsite daycare center for working parents? Paying for all or part of their health insurance? Or offering educational assistance or paying
for certification? On an annual ski trip, paid foreign tours, onsite car washes and oil changes? Or free laundry and dry cleaning facilities? Or prized stock options? Well
it could be anything as long as it can keep the employees motivated. There are perks other than monetary gains or raise in pay package which can make employees
feel happy and satisfied and the feel good factor.

According to the passage, what is not the key concern of the businesses these days?
Options:

1) happiness of employees

2) motivating employees

3) keeping employees on payroll

4) criticizing the employees performance

Correct Answer: criticizing the employees performance

Candidate Answer: [ NOT ANSWERED ]

QID : 397 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the
given four alternatives.

Keeping employees happy, motivated, and on the payroll is one of the key concerns to businesses these days because it's an open market for top talent. A good
employee can walk out of the door today and have a comparable or better job tomorrow. Which brings up a very important question: what would the companies do
to keep away that person from even thinking about going to work elsewhere? Gone are the days when the monthly paycheck and two weeks' vacation a year were
enough to keep employees happy. Employers must come up with irresistible incentives to keep top talent onboard. The results of a recent survey by Fortune
Magazine on why people leave their jobs shows that 30 percent leave for better compensation and benefits, 27 percent for a better career opportunity, 27 percent
for new experience, 21 percent are dissatisfied with opportunities at current job, and 16 percent desire to change careers or industries. Money is no longer the only
major motivator. So, is this an onsite daycare center for working parents? Paying for all or part of their health insurance? Or offering educational assistance or paying
for certification? On an annual ski trip, paid foreign tours, onsite car washes and oil changes? Or free laundry and dry cleaning facilities? Or prized stock options? Well
it could be anything as long as it can keep the employees motivated. There are perks other than monetary gains or raise in pay package which can make employees
feel happy and satisfied and the feel good factor.

What does employers do to its employees now-a-days to keep top talent onboard?
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Options:

1) monthly pay check

2) irresistible incentives

3) two weeks' vacation a year
4) maternity leaves

Correct Answer: irresistible incentives
Candidate Answer: [ NOT ANSWERED ]

QID : 398 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the
given four alternatives.

Keeping employees happy, motivated, and on the payroll is one of the key concerns to businesses these days because it's an open market for top talent. A good
employee can walk out of the door today and have a comparable or better job tomorrow. Which brings up a very important question: what would the companies do
to keep away that person from even thinking about going to work elsewhere? Gone are the days when the monthly paycheck and two weeks' vacation a year were
enough to keep employees happy. Employers must come up with irresistible incentives to keep top talent onboard. The results of a recent survey by Fortune
Magazine on why people leave their jobs shows that 30 percent leave for better compensation and benefits, 27 percent for a better career opportunity, 27 percent
for new experience, 21 percent are dissatisfied with opportunities at current job, and 16 percent desire to change careers or industries. Money is no longer the only
major motivator. So, is this an onsite daycare center for working parents? Paying for all or part of their health insurance? Or offering educational assistance or paying
for certification? On an annual ski trip, paid foreign tours, onsite car washes and oil changes? Or free laundry and dry cleaning facilities? Or prized stock options? Well
it could be anything as long as it can keep the employees motivated. There are perks other than monetary gains or raise in pay package which can make employees
feel happy and satisfied and the feel good factor.

Which of the following reason is not being mentioned in the passage in regard to people leaving their jobs?
Options:

1) family constraints especially after getting married

2) dissatisfaction with opportunities at current job

3) better compensation and benefits in new job

4) to have a new experience

Correct Answer: family constraints especially after getting married
Candidate Answer: [ NOT ANSWERED ]

QID : 399 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the
given four alternatives.

Keeping employees happy, motivated, and on the payroll is one of the key concerns to businesses these days because it's an open market for top talent. A good
employee can walk out of the door today and have a comparable or better job tomorrow. Which brings up a very important question: what would the companies do
to keep away that person from even thinking about going to work elsewhere? Gone are the days when the monthly paycheck and two weeks' vacation a year were
enough to keep employees happy. Employers must come up with irresistible incentives to keep top talent onboard. The results of a recent survey by Fortune
Magazine on why people leave their jobs shows that 30 percent leave for better compensation and benefits, 27 percent for a better career opportunity, 27 percent
for new experience, 21 percent are dissatisfied with opportunities at current job, and 16 percent desire to change careers or industries. Money is no longer the only
major motivator. So, is this an onsite daycare center for working parents? Paying for all or part of their health insurance? Or offering educational assistance or paying
for certification? On an annual ski trip, paid foreign tours, onsite car washes and oil changes? Or free laundry and dry cleaning facilities? Or prized stock options? Well
it could be anything as long as it can keep the employees motivated. There are perks other than monetary gains or raise in pay package which can make employees
feel happy and satisfied and the feel good factor.

What does feel good factor mean with respect to employees?
Options:

1) monetary gains to employees

2) social acceptance

3) opportunity given to employees to work abroad

4) anything which can keep employees happy and satisfied

Correct Answer: anything which can keep employees happy and satisfied
Candidate Answer: [ NOT ANSWERED ]

QID : 400 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the
given four alternatives.

Keeping employees happy, motivated, and on the payroll is one of the key concerns to businesses these days because it's an open market for top talent. A good
employee can walk out of the door today and have a comparable or better job tomorrow. Which brings up a very important question: what would the companies do
to keep away that person from even thinking about going to work elsewhere? Gone are the days when the monthly paycheck and two weeks' vacation a year were
enough to keep employees happy. Employers must come up with irresistible incentives to keep top talent onboard. The results of a recent survey by Fortune
Magazine on why people leave their jobs shows that 30 percent leave for better compensation and benefits, 27 percent for a better career opportunity, 27 percent
for new experience, 21 percent are dissatisfied with opportunities at current job, and 16 percent desire to change careers or industries. Money is no longer the only
major motivator. So, is this an onsite daycare center for working parents? Paying for all or part of their health insurance? Or offering educational assistance or paying
for certification? On an annual ski trip, paid foreign tours, onsite car washes and oil changes? Or free laundry and dry cleaning facilities? Or prized stock options? Well
it could be anything as long as it can keep the employees motivated. There are perks other than monetary gains or raise in pay package which can make employees
feel happy and satisfied and the feel good factor.

What can be the suitable title for the passage?
Options:

1) Incentives to employees

2) Money — a major motivator for employees
3) Giving employees a feel good factor

4) Challenges to keep employees onboard
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Correct Answer: Giving employees a feel good factor
Candidate Answer: [ NOT ANSWERED ]
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